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Example (1) :  For the circuit shown in fig. below , it is assumed that both lines are first 

open and then re-closed , determine the maximum time ( ONt ) ( time of re-closed) during 

which the system is capable of preserving its transient stability when energy is not supplied 

to it .  
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When both lines are switched off 0max =
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)( ONc  - is the max. angle at which the lines should be switched ON ( re-closed ) . 
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Example (2) : 

For the circuit shown in fig. , if the fault occurs on one line . 

Determine the critical clearing angle .  
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   0.100 == Tg PP  

         5.1;5.0;0.2 maxmaxmax === IIIIII PPP  

 

Solution : 

From data we can draw the ( −P ) curve . 
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Example (3) : 

For the circuit shown in fig. , find the critical fault clearing angle , when 3-phase short 

circuit occurs at point shown in fig. The breakers 3CB and 4CB are opened after the fault .  
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ii) during fault : 
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That is mean , no transfer power at the receiving end .  

       0max =
IIP  

iii) post fault operation ( 3CB  and 4CB  are opened ) 
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